Govt. Naveen College Bori, Durg
B. Com Ist Year
Academic Session 2021-22
Model Examination

Course Title: Business Mathematics
Paper Code:

Time: 3hrs Maximum Marks: 75
Note: This question paper consists of Only One Section: Sections A

Attempt: Any 10 from the Section A
The figures given in the right-hand margin indicate marks.

Section -A (Marks — 7.5*10=75)
(Attempt (Any 10) the questions from Q.1 - Q.14 All questions carry equal marks.)

Que. 1 Solve the problem using Cramers rule (GSII]- ﬁfﬁ)
5x+8y =42
10x-4y-4 =0

Que.2 Solve the problem using elimination method (ﬁ?ﬁtﬂ ﬁﬁl)

15x + 3y =39
12x+9y =51

Que.3 Teh S fth shl 36 ITd TX T 71T foh o1 fSr T T <o S & ¢ &0 fireftt o o fo
T ST T, I ¢ FHAT SFAMT A7 T2 | o T 3 o118 36 it R0 38 TR firer , 36

ENCACCEEICRERIN |

An individual was employed on the condition that he will get Rs 68 for the days
he works and will be fined Rs 8 for the day he is absent. After 40 days he got
only Rs 2036. For how many days did he work?

Que.4 RS 1440 =t 52 sr==i § 38 T SieT 74T {5 Tedeh igah il RS30 F Tcdeh eigaht oh

RS 25 fiet . Sigeh 3R Tefra shil G sIqTsT

Rs 1440 are divided amongst 52 children such that each boy gets Rs 30 and
each girl gets Rs 25. Find the number of boys and girls .



Que. 5 Tert 7 RS 400 foreft ATemor sarst i G # R a1 o [T ST i SR AT

I Rs 100w RT3 ad U dfea i fer | afe Ao s &0
39 55 Y ITH BT T SIS hl ST JTd Shi TS

Suhani lent out Rs 400 to Suraj for 2 years at a certain rate of simple
interest and lent out Rs 100 to Rohit at the same rate. If she get Rs 55
in all as interest from both of them . Find the rate of interest.

Que. 6 TH TR T A HESHT & Fa 10,000 3R o | v & forg st it &

¢ %A T TEL o FA 6% artiies oft | o o forw 5t & 720 =<t e, | weores
T T 1T & sl FAT3T

A businessman borrowed from 2 money lenders a sum of Rs 10,000.
For one loan the rate of interest was 8% per annum and that for the
other was 6% per annum. He paid a total interest of Rs 720 for 1 year .
Find the sum borrowed on each rate of interest by him.

Que 7 IR AT & ¥R. 2, THA I TN AT k(5. ST 3h1 & 4 % AT & Tk AT
BHTRT STIST ST & A HoTe S5y

If the interest is Rs 49.2, time 2 years and compound rate of interest is
4% p.a compounded half yearly. Find the Principal

Que. 8 =hafg =S A & T RS 2,440 &1 firgrem 3 a8 F 3,qu3 AAS@IE A
TTshafs ST ST & 1 shif |

The Compound interest of a sum of Rs 2550 will amount to Rs 2952 in 3 years .
What is the rate percent per annum.
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